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Remove Tvul Yoim from here - 2 92D NN A0

Overview

The X3 cited the mawn, which included a o 9120 among those which are nX S0
7207, The X nx assumed that 2 72av is like all the other 2°7109 which are
mentioned in the 71wn, who are 7327772 770 9010 on account of the 127 11"> nATa.
The X 13 asked but 01 9120 is n"nn 72170 201, The X3 answered remove 21 9120
from ‘here’. mMoo1N explains what ‘here’ means.

nvoINn explains that oy m2v 1R2M N0 -
929 1779 19391 M1 K97 NON 'NIwnn I NY

Does not mean that we should remove 21 9120 from the 73w, but rather o1 7120

should be removed from being counted as one of the 927 1''> (o 912w being o1
7170 is not one of the 727 11> n7°1a for it is RN7IRTA S010).

Summary
We retain 21 9120 (which is D872 72170 H019) in the mawn (where all the others

are 717N 099 only 112777 as part of the 727 n1'"), but we remove it from the 227 1'™.

Thinking it over
Since 01 72v is different from all the other 2°201 in the mwn, why does the mawn

place it in the middle of all the other a’bme;z 1t should have either been mentioned
first or last?!’

" The mwn (in 2"n 7"2 o°a1) cited on 2,3 merely stated certain cases which are 72170 9019, there is no mention there
whether they are Xn»1R7» 9019 or 13127177, therefore there is no need to amend that 71wn and remove 21 12v, since
the mwn is merely stating who are the ones that are 710 %01 and indeed a 01 912w is (RN>7XT) 7170 7010 and the
others mentioned there are 1312777 Y0.

2t is placed between 0>7°71 and 1°Pwn2 WALIY 121 22228, which are 112777 0.

? See (") 7N M.
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